L.O. Divide decimals to solve problems = ANSVVERS

Problem |

There are. 1,360 dhildren i a school.
A quarten of the children walk 1o school
Houw many children wale to school?

Problem 2

Faye has saved hen pocket moneyy fon 5 weeks. She
saved £ 1665, How much, pocket money does Fae
gt cach week”?

Problem 3

Jodi/sr\ujrmjm((a6 kem, race.
He has run one thind of the race <o fin
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Problem 5 Problem 6
Owven foun das, o plct flow their plane 9867 | |Oven cight days,  salor saled the boat

1850.8 k. Hous many miles did the sailon

A group of 7 people share £9485

True on Fdlse?

A group of Y people share £56.80

e e
The group with 4 people will 1

T receive more money each.

True
£94-85 = 7 = £13-55

£56-80 =~ 4 =£MH-20
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Problem / Problem S

Twinkl-Tastic drink = £0.76 or 76p
Twinkl-Tasty drink = £0.96 or 36p
Difference = £0.20 or 20p




